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Setld : 47071_73 12Aug18_ Batch1 D El Edl
Section 1 - Paperl-General English

1) Select the right synonym for the underlined word.

She drove the car with rapt attention. T eC h O fW or I d . I N

A) Joyless
B) annoying
C) Engrossed
D) Active

2) Choose the right option to fill the blank:
| will wait 5 pm, but after that | will leave.

3) Choose the correct answer:
They that they wouldn't be upon by
unscrupulous men.

A) preyed, pried
B) prayed, pried
C) prayed, preyed
D) pried, prayed

4) Choose the right option to fill the blank:

The school was situated on the opposite bank of the river
and the students had to swim the river to getto
the school.

A) by

B) along
C) through
D) across

5) Choose the correct answer:
The student was for being unpunctual
frequently.

A) reprimanded
B) commended
C) congratulated
D) praised
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Section 2 - Paperl-Education and General Awareness

6) The systematic series of activities involving instruction,
practice, etc. to produce desirable habits or behavioral
particular aspects of life or vocation, is referred to as

A) Teaching
B) Learning
C) Tutoring
D) Training

) w1ae @€l 98e Q8o UK 29l F0Y LRI RERIEY
JRERQEQ! 2I6Rd, TN RG] Rl K98Ql RINIERIIR
QUSEE SIS QEI2I6T

A) GRIQIe
B) dad

C) 2g3ad
D) gdad

7) Which of the following is a unique system of schools
specially tasked with discovering talented children in rural
areas of India and imparting quality education to them?

A) Jawahar Navodaya Vidyalayas
B) Army Public Schools
C) Kendriya Vidyalayas
D) Gurukul Pathashalas

7) QIaeQ GIFIEReQ G4 9Eely 2IfEIa QGel 8 69AIRE FEREl
881 9918 K89l AN FIRYG FRIG 6RAE IR I6T FIRG AIRT
2166 ?

A) GQIZQ FERITH TR
B) 2IE a§R 4

C) 6512 QQuIRal

D) qgq® i04ie!

8) Meat takes longer to cook on mountains. Which of the
following statements is the CORRECT reason for this?

A) Atmospheric pressure increases with altitude and water
starts boiling above 100° C

B) Atmospheric pressure increases with altitude and water
starts boiling at high temperature

C) Atmospheric pressure decreases with altitude and
water starts boiling at low temperature

D) Atmospheric pressure remains constant with altitude
and water starts boiling at 100° C

8) 090 Q96Q F1rd ARQIQ 2RIW AL AIGS! | I2IQ FIRE AARER
GRG0 696 a@F O] 2169 ?

A) QRAERIE 01T AGQ IRF0IQ ARER 9F Q6 ¥a° AIE 100°
C 6Q gEal aIaa g9

B) QIgF€a1a 910 AFQ 9RA0IQ @26Q 98 QM Ne° AId aye
QRAAIFIER FTRI 20e g4

C) QIgNEmMa 91 Ag 98F0IQ A56x 2IA AN e A8 @7
QIIFIGIER JTR 2T 29

D) QIFEME 91d AFQ 9eR0I9 9960 89 @62 Ie° AIé 100°
C 60 g5al 21ea 29

9) Who was the first woman Congress Party President?

A) Sarojini Naidu
B) Ambica Charan Mazumdar
C) Annie Besant
D) Indira Gandhi

9) oAl FIER| K°6g9d ARIEHRT @ ?

A) QEAITE F1Rg

B) A% 904 (gaeia
C) 25 69413

D) @49 lIF
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10) Which of the following is regarded as the most popular
mode of curricular transaction for classroom teaching?

A) Flipped mode

B) Online mode

C) Face to face mode
D) Distance mode

10) 6g¢11 926a FTRIT TR FEYB FRIQ 6R6T AGQ WY
AI0YFT FAL UG R6S T6ROR @RI ?

A) ggQiestiadife aad (Ga6g1R)
B) 2onagad

C) Qg oad

D) gofosa aa6

11) Why do we never see birds urinating?

) The urine excretion takes place in the digestive tract
) They have a special organ which absorbs urine

) The urine excretion takes place through skin
)

A
B
Cc
D) They do not have a urinary system

11) QRIFIES ¢)8 SIS 993 QIF QIEF 2

A) €8 QYIS 9RAIR AR1 BE6Q 62IREIN

B) ¢|eq 2969198 @49l dIR 6AFIRTR 905 A6 2T
C) €8 QUI9 91 Geea 6212

D) 6QAI9Ea ¢J8 J8IR1 @ &

12) In which of the following systems, candidate who has
more votes than all other candidates is declared elected?

Jefferson method of Apportionment
Proportional representation system
Mixed Member Proportional

First Past the Post system

o0Ow>

)
)
)
)

12) GORYS g 639 JEIRIER QY AAG GRiIE OIg 2R 688
el gldig FQI60 60186 FaILi ?

A) FITALR & R ARG

B) QfIQQIce 9aqe 9ad
C) fige Qoqy anIgaIte aad
D) o4 O1g @ ca1d Jag

13) Who formally inaugurated the University Grants
Commission (UGC) in19537?

A) Shri Maulana Abul Kalam Azad
B) Shri. Fakhruddin Ali Ahmed

C) Dr. Murali Manohar Joshi

D) Smt Smriti Irani

13) e 08M OdgiER KIT ge @fide (BFA)q @9 AR
RIS QRYITH FRem ?

A) 164IRIR1 A9m IR 2IBIQ
B) §1 F@QaQ 2Rl 2A9RQ

C) QP o T2 614l
D) 91616146 QI

14) What is the name given to the unstructured type of
learning resulting from daily life activities related to work,
family or leisure?

A) Casual learning
B) Informal learning
C) Intentional learning
D) Formal learning

14) QIdY, 9AQIQ 99 2Qda AYFC TFRA QIdY FRID 9ERY
fAgael 2Qea0e dQ6g @6 gRIAIN ?

A) dQde dge

B) 269100164 S8
C) eEReY)Ra dad
D) Gaofa d84
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Section 3 - Paperl-Reasoning

15) What is the next number in the given series?
22,23,48,147,7

A) 592
B) 598
C) 498
D) 492

15) JOR GF16Q QI LHIFFAR TR AT A4l 629 ?
22,23, 48,147, ?

A) 592
B) 598
C) 498
D) 492

18) The speed of the train that covers 600 km in 18000
seconds is

A) 60 kmph

B) 120 kmph
C) 100 kmph
D) 130 kmph

16) 18000 696946@ 600 km 2595 Q9IS 657 6991 6969

A) 60 kmph

B) 120 kmph
C) 100 kmph
D) 130 kmph

17) What is the missing number in the given series?
135, 125,115, 7,95

A) 105
B) 100
C) 95
D) 110

17) o8 97160 @ &al AT K6l 263 ?
135,125,115,?,95

18) If GRAMMAR is coded as LRFMRAW, then DANCER
will be coded as

) IASCJQ
) IASCJR
) IASCJP
) IASCJS

18) 9G¢ GRAMMAR @ LRFMRAW @I6q Q17 9@ QAUAIQE,
6069, DANCER q @98 6219 9@ @aIde

A) IASCJIQ
B) IASCJR
C) IASCJP
D) IASCJS

19) If WOUNDS is coded as SDNUOW, then ROUNDS will
be coded as

A) SDNUPO

)

) SDNUOP
) SDNUOS
) SDNUOR

19) 9@ WOUNDS @ SDNUOW QIR 6Q12 92 Q@QIQIRE, 6569,
ROUNDS q @9@ 691 g8 @alde

A) SDNUPO
B) SDNUOP
C) SDNUOS
D)

SDNUOR
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20) What is the next number in the given series?
23, 24, 32,59, ?

A) 123
B) 129

TR Tec

20) g9@ §96Q 29l CHYIFRRR Qe °HIT /8 689 ?
23,24, 32,59, ?

A) 123
B) 129
g) 121
D) 120
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Section 4 - Paperl-Teaching Aptitude

21) When the teacher finds that a student is always
scratching his ear and has to force himself ahead in order
to listen to the teacher it could be that the child is suffering
from

A) Hearing difficulty

)
) Psychological problem
) Emotional problem

)

B
C
D) Visual disability

21) 6K60696R A9R 6943 69 64l BIg 490l Fea RIRG TIKE
9e° 89035 9881 AR 0Iq 3eq St @AQIQ 9g 8 6068 dAIFR 6eQ
QAN QEE ?

A) gdaleq agaul
B) fiede aaadl
C) 2leedia aaayl
D) 6egQI6a agqQull

22) Who said, "Intelligence is what is measured by
intelligence tests."

A) Binet

)

) Sweet
) Nunn
)

B
C
D) Boring

22) @4 @Feem 64 "9 6QlE@ QIR FIRI 19 SQUAN'?

A) QIR6RQ
B) 9@<
C) o]
D) 6Ql6iet

23) Which of the following is NOT one of the top 6 agencies
for the improvement of higher education in India?

A

) ICAR

B) SCERT
C) AICTE
D)

ICSSR

23) AINGE9 AF JNIQ Q18 AR QI 65 A69IE AT FI6Q FORHe
6906 QIE ?

A) ICAR

B) SCERT
C) AICTE
D) ICSSR

24) According to Freud the life force is called

A) Libido
B) Consciousness
C) Breath
D) Brain

24) 67aR AQQIN 9198 99g R4 QRIAI ?

A) Q1G9

B) 690al

C) Gq1a 6 gaid
D) agds

25) Which one of the following statements is CORRECT?

A) Managing teaching learning helps in identifying only
socio- economic status of learners

B) Managing teaching learning helps in identifying the
teaching learning objectives

C) Managing teaching learning does not help in building of
confidence

D) Managing teaching learning does not help the overall
teaching learning system in terms of parameters, namely
input, processes and output
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25) FIRYS 6RQ 94T OF ?

A) 391019 SR6Q CERIRT @8R! FIRI SR AINIGR-

eleicRon §C 590 @fiel §osa 6aeR AILIY F6Q |

B) dQI0ie d84q Co9Ieq 28R dAIRIe N9 asadYy 599

@001 3560 AITIAY Q64 |

C) dfIRie dgdg 0A0IRa @69 2INTYIA 08 @EIQl Go6a

ATIY FERRIT

D) dRI9I d8dq UaoIna @GR! 64 @ Fore @f flIead

28 AAFR G984 FAIRIR QUeEIg ALY FEARIT

26) Who said "man is a social animal"?

A) Socrates
B) Aristotle

C) Plato

D) Rousseau

26) 34 @22j6R 8IS 6268 1@ AR ag’ ?

A) Q6559
B) 2IQ6qoR
C) Q65!

D) Q&al

27) Which is the informal device of teaching?

Exposition
Excursion
Recitation
Demonstration

— ——

A
B
C
D

27) 6996 6208 JRIQINR AGAUFIARR RAIB ?

A) goaee
B) @&
C) a1e@
D) gedq

28) Meghana is attending a teacher training and faculty
development technique whereby she reviews a recording of
a teaching session, in order to get constructive feedback
from peers and/or students about what has worked and what
improvements can be made to her teaching technique. She
is involved in

A) Macro-teaching

)

) Minor -teaching
) Major-teaching
)

B
C
D) Micro-teaching

28) 6610Q1 1@ 9 GMF B 6AINYS FRIS RIS FITIFIER 6AIT
69083 | 60606 64 IR FAITIF AJELIFD 609%°g AL
@983 | QIR TRER 62 QRN 6 /A% FAIGTIFIF OIQ FORCPR ALIAS
ARG B 6QF 29Q6e d8d QIR TRId FE0IRs | 64
6ReRien Ag uad ?

A) FIER-GG°

B) diaaq-55°
C) 6789-6G°
D) QIQ6gl-66°

29) Herbert Spencer worked extensively on the field of
sociology and published his work in the form of the following
book.

A) Principles of Sociology
) Sociology of Life
) School and Sociology
)

B
Cc
D) Sociology

29) 6296 696AQ ATIF FRIX AUER QUINR NIER UDS PSR
43° Q1T RANEY FIRYS 699 QIR gRIFE aGigem ?

A) QFIe SRR 48R
B) @12aQ adlie GRIe
C) 94 6 AClle BIQ

)

D) Q9Ix 3815



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

30) The school administration today makes arrangements in
the existing infrastructure so as to accommodate children
with special needs. This is a method of

A) Progress
B) Inclusion I (
C) Modernization

D) Development

30) Y@ Q9IQe A°gS QAIFIQ GRIGHA 2ICRINe QQRE IRl
TREQ TEEY 2GRS AFNEQ TRNAIFT QHTRAVIAR | 98 A8GQ
@6 QLI ?

A) Q96
B) 22¢3904

C) ARFRRAE
D) Q@I

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 5 - Paperll-Odia Language

31) ‘PIP6ca 60R ARIQ AR’ APTa 22 Feaa eal

QAR NI

" sea i Techofwor

c) P99 629l

D) 28001 9K @8I

32) ‘QACYRI 890 §ARIE 8 6

A) adouel
B) aARA

‘am’ @ e AQUA ?
33)

A) Qa®b Qo

B) Qegre

) aRefe
- AR

34) QUG 080 e ?

A) eQal
B) 84

c) G
D) 918

15) 694 RAQACQ A6RQ YRR ‘2’QIR 6QIA !

p) 3%
B) aQ
03 a8
D) a6
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- 8§2I6Q QIS RAATYFe @ aeIa geua ?

) 9 9ol

5 OF 90w

Bl Techc

D)

4 » ’
47) AIcar a9a AR e 466 ’a ?

38) ‘PRIR’ I9Q RCIRAV| 9L QACAINIAE VR A cR ?

39) CREQI0 R NSO 99F 6w A ?

pA) F6a81Q J6a8e
g) dea QR Qcaad

o) FAIQ F6HVH
p) QREe 68

40 2USAE CRQ QIRIQ QRIAN?

A) 2201591 FAIYIR AL
g JUPIRARYS @QAQI AQ
o) F2IP21R QRUQ A0R

) QAR AR VU AT g1
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1) clR§ 9 cea |aIQ 2138 ?

n o Techofworlc

c) eI
D) Qe

42) cRIRE 80 AIGQl Al 21328 | CQUIEE 99T6a oW AR QUQLS 20T ?

A) QA @al
p) Q@A eal
C) a4 Qe

D) 2Qq1gel @8l

43 QIRIR’ 826Q ‘ar QAQQ 6OW 226Q QUIRS ?

A) agie
B) Qi

c) Saate
D) QAR

0 ‘YR 98 IR QW AR Q8 ?

A) Raele
) QRIS (Al
c) NS
p) 9KYS

45) ‘AQQR’ G ‘QANe’ 19Q IRIIEIRIQ ARa 1Q 96a 6|

A) 6Q@1
B) e
C) ewIa
D) @@l
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Section 6 - Paperll-Mathematics

46) If A and B be two sets containing 3 and 6 elements
respectively, then what can be minimum number of elements
in AUB?

46) 94 9@F 69 A ¥Q° B Q2Ig6eF 3 ¥9° 6 QAINIST 2198 @QE,
6662 AUB 6Q QQIQIRER A9GE QT 6260 6297

47) A man makes a profit of 8% by selling a commodity at
Rs 540, the cost price is

A) Rs. 500
) Rs. 800
) Rs. 400
)

B
Cc
D) Rs. 800

47) 9649 48 540 SFI6R 691G GREg QG 8% AN ASR Q6R,
6969 @4l RY 6968

A) Rs. 500
B) Rs. 600
C) Rs. 400
D) Rs. 800

48) The area of a rectangular plot is 36 m?, the length of the
plot is one more than twice its breadth. What is the length of
the plot?

A) 12 metres
B) 8 metres
C) 4 metres
D) 9 metres

48) 9 PILGIFIR JF 9 699G 6268 36 m? 9e° gF @ 654y 9LIR
999 99 GIQ ZRIF | §F @ 636l 696 ?

49) The locus of the points moving at a constant distance
from a given fixed point is

A) acircle

B) atriangle
C) an ellipse
D) asquare

49) GRS 46 FRTLQR AT §AGI6R 9E FRee| 998 6208

A) 4@ QR
B) 4@ 59@
C) 92 9RO QI 2YRIQ G8
D) 49 Q6689

50) ABC is a right-angle triangle, right angled at B, such that
BC =6 cm, AB = 8 cm. If a circle is inscribed in the triangle
ABC, then the radius of the circle is

A) 2cm
B) 3cm
C) 1cm
D) 4cm

50) ABC 6298 1@ d16@161 5@, B Ol6Q AA6RI66Q 28, 6906
BC =6 cm, AB =8 cm. 95 &% §@e ABC 6RI4EQ 84S, 6569
Q00 QYA 6765

A) 2cm
B) 3cm
C)lcm
D) 4cm
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51) The sum of all exterior angles of an equilateral triangle
IS

A) 360°
B) 60°
C) 120°
D) 180°

51) 645" AFIQIE GRER AR QD 6R160 AITTH 6207

A) 360°
B) 60°

C) 120°
D) 180°

52) The smallest number that leaves remainder 7 when
divided by 35, 56 and 91, is

A) 2547
B) 2345
C) 3647
D) 3547

52) 35, 56 6 91 9IQI FATS 626M ATEHT 7 62| FFO
QAT 628

A) 2547
B) 2345
C) 3647
D) 3547

53) Let A and B be two sets with cardinalities n(A) =12, n(A-
B) = 5 and n(AUB)=23, then the maximum number of
subsets of ANB is

A) 256
B) 64

C) 1024
D) 128

53) dQIQIa A @ B 6268 9@F 649 QIZIQ RIFAIRT 62@8 n(A)
=12, n(A-B) = 5 8 n(AUB)=23, 6062 ANB @ Aakia AL6AT
oAyl 628

A) 256
B) 64

C) 1024
D) 128

54) Which of the following is FALSE?

A) 75 =4245
B) V486 = 96
C) 5V6 < 6Y3
D) 2V3 <3y2

54) GARAYS FQ 60 ABT g@ 2160 ?

A) 7v5 =245
B) V486 = 96
C) 5vV6 < 6v3
D) 2V3<3v2

55) What is the value of (a+b)? ?

A) a+b+ab
B) (a-b)?-4ab
C) a%+ (a+b)b
D) a2+ (2a+b)b

55) (a+b)? 6 (@Y 6@6G ?

A) a+b+ab
B) (a-b)?-4ab
C) a?+ (a+b)b
D) a?+ (2a+b)b
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56) Sum of LCM and HCF of two numbers is 1260 and LCM
is 900 more than the HCF. LCM of the numbers is

A) 1080
B) 1000
C) 1020
D) 1060

56) Q01& QIR R.Q1.G 49° 61.41.5 Q 918 6268 1260 9e° R.A1LY
6208 6.91.5.01Q 900 21J? 1 A°HITA 6.41.G 6268

A) 1080
B) 1000
C) 1020
D) 1060

57) If the sum of a number and its reciprocal is 61/30, then
the number is

57) 9& 6QIG Q@ 98° IR Qe 9FAINea 48 6aed
61/30, 696@ QHNIT 6968

A) 1/6
B) 7/6
C) 5/6
D) 1/5

58) What is the compounded ratio of the ratios a:b, b:c and
c.d?

A

oo OTon
Qo0 00T

)
)
)
)

o0Ow

58) a:b, bic 9@° c:d @ L6LIFE 2QUIST @4l ?

59) 3:4 6 6:7 @ 64I9% AGAUIS 6928

A) 1811
B) 9:13
C) 9:14
D) 1825

60) A shopkeeper buys a commodity for Rs 760. At what
price should he sell it in order to make a profit of 12.5%7

60) 964 621RIR1 760 SR FRAGY @deR | 125% RN ARG
dInl QI 6R60 FFI6A 1Y 84 FARIg 629 ?
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Section 7 - Paperll-Social Science

61) The southernmost point in Indian territory, the Indira
Point located in the Nicobar islands lies in the latitude of:

A) 37°6'N
B) 6°45'N
C) 8°45'N
D) 37°9'N

61) QIAVIA QISR QTVEGT 6@1, F6RIAA QKUY @R "L
AE" 6Q60 Bl AVIPGER LD ?

A) 37°6'N
B) 6°45'N
C) 8°45'N
D) 37°9'N

62) Which of the following options refer to the process of
introducing trees and tree seedlings to an area that has
previously not been forested?

A) Agroforestry
B) Afforestation
C) Sccial forestry
D) Deforestation

62) 6450 2OREa 6UR016Q 2P @R 62IRRIE 64016
Qg (8 PRl MRS @@ﬂlﬁi@@ QLI ?

A) 98 Qa1RQd

B) QQ1a04

C) AFIFR LF1Rad
D) Qaad

63) Which among the following ways is/are to be followed
for a Constitutional Amedment in India?

(i) Amendment by Simple Majority of the Parliament
(if) Amendment by Special Majority of the Parliament

(iii) Amendment by Special majority along with the
ratification by half of the Legislatures

) Only (i) and (ii)
) Only (iii)

) Only (i)

)

A
B
C
D) (i), (ii) and (iii)

63) G6qlIa 606! IR QNGEE AFXIFH Q°CHS ARIES
QA0 @QUDQ 2SR ?
(i) ARG L TRFT FIRN AEARIG

(ii) 902 Q°¢Y 90RESI TIQI TERIF

(iii) 90Q <Y FAFG! TR A°CSRIR, AV UILS FINT FIQ
AGEFILG 689

A) 62 (i) 9e® (i)
B) 6@ (iii)

C) 6997 (i)

D) (i), (ii) 9<" (iii)

64) The summer solstice in the northern hemisphere is in
the month of:

A) December
) June

) March

) September

64) RRQ 6GINGER FIF 2ARIS 641G F1126Q @4, 919l eLml
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65) Which of the following statements is CORRECT
regarding the qualification for election to the office of
President in India®?

A) The candidate must have completed the age of 55
years

B) The candidate can hold an office of profit under the
government of India

C) The canditate must be a member of Rajya Sabha

D) The canditate must be a qualified member of the Lok
Sabha

65) QIG6Q QIFAE 096 ITIGI AFRER F6Als 69 8@ & 0F
?

A) gieiig 390 @I6e 55 od 62102

B) gigl QIQG A0RIAE 2RIG6R 67193 QIR Q19 QIY 9QRI6S
C) gl 386 QIS IRIR A9YY 621R2Y6S

D) Qigh G8E QIER 6RIF INR FEE 6KIGY AR 6LIRZER

66) Which of the following options is INCORRECT with
relation to the types of Muncipalities existing in every state
under the provisions of Article 243(Q) of the Indian
Constitution?

A) Municipal Council

B) Nagar Panchayat

C) Municipal Corporation
D) Nagar Samiti

66) QIRGIA AL IRl 243(Q)Q ISLI AQALR T6RHR

QURIEA ETIRUIFAIR RIS 6919 QAR FARYE 674 399G O] g6L

?

A) 6dQ 9899
B) G0IQ C°QI0@
C) &dla G
D) @9Q 9@

67) Which of the following subjects deals with the study of
the history, culture, religions, people and folk lore of the
Indian sub-continent?

A) Mythology
B) Psychology
C) Indology
D) History

67) FARNYS FUIQ 676 FAATER UGG RU-AIZEIIR AT,
QYE, A, 2YQIAT G ERGaRI 2IF N ?

A) goI8l €19

B) A6R1GRIS AIY
C) LIS TQul a1
D) Q@e1a 4Ig

68) What does the term humidity mean?

A) The change in the pH level of the water

B) The amount of water vapour in the air

C) The change of atmospheric temperature

D) The change of the physical state of water vapour into
water

68) QIg ALRA 2IGE| TEM P QLN ?

A) 99a 90 AIgIQ 98ees

B) QIgER R1E Q18R Qg

C) QIGNERaa SITFINQ ARQRe

D) 9714 Q¥ 0IQ §7 VIES 6816R Afeae

69) In which year, was the Non-cooperation movement
started by Gandhiji?
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69) QIR 69a (9160 2AT6AIT 2ICRIRE AR ateem ?

A) 1917
B) 1920
C) 1922
D) 1919

70) The bill which sought to grant the Indian judges same
powers and status as any of their European counterparts
was opposed by the British residents in India. Identify this
bill.

A) Arms Act

)

) libert Bill
) Rippon Bill
)

B
C
D) Rowlatt Act

70) QIOS1 FRIRATAIRG G FPRAE AAGA BASI @
QRIF 6991 MG 21T IR TN G VIALER AL §5Q
2RRIAINER Feak! RBER | FITI 694 TR ?

71) Kalidasa regarded as one of the greatest poet and
dramatist in India belonged to which of the following
dynasties?

A) Mughal dynasty

)

) Chola dynasty

) Gupta dynasty

) Chalukya dynasty

71) QRGO , 99 @ QIIER 99 FIRIQ 9T S8l FITIR g6, 64
G612 609 9°8 KIS 2J6m ?

A) 6919R Q4
B) 60I% @4
C) 9@ <-4
D) QIge @4

72) What is the minimum age required for voting in India”?

) 21 years
) 18 years
) 22 years
)

A
B
C
D) 16 years

72) QIQGEH 6WIG QIR 2GR @D 161l 6Q6% ?

A) 2198
B) 18449
C) 22 «d
D) 16 Q@

73) Earth rotates in which of the following directions?

) Northward
) Eastward

) Westward
D) Southward

A
B
c

73) Q291 74 AYE 674 Ta6a gReard ?

A) 299 U6¢

B) g9< Q69

C) Qéle asg
)

D) @&4 969

74) Which of the following terms can be defined as the
angular distance of a place north or south of the Equator
which is taken as zero?

) Longitude

) Pole

) Latitude

) Prime Meridian
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74) OGS CIQ 600 90T QIEAd OIf 2R 77l @F96a §e
QI0Q 6QKI18 QOQ, KIRI §LY 6 LN, FIRIG QIR ?

75) Which of the following is an example for non
conventional source of energy?

A) Biogas

B) Petroleum
C) Natural gas
D) Coal

75) 36918 FIQ 62%G I3Q IR AAIRMGR AQ 26T ?

A) Q6L MIQ
B) 696g1meie]
C) 919G@ oMIQ

)

D) 6@l
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Section 8 - Paperll-Science

76) In Opuntia an aerial stem is modified to perform a
function of a leaf is termed as

A) Tuber

B) Bulb

C) Corm

D) Phylloclade

76) Q166061 98 A6 ITIGER QI8F 9@ 9ge gRIdy *EeIg
ALY, QIDIg K46 LI

A) @0

B) age

C) deae

D) IGERIERR

77) Which of the following sentences supports nature of the
Cosmid?

A) Engineered vectors that combines the properties of
plasmids only

B) Engineered vectors that combine the properties of
bacteriophages only

C) Engineered vectors that does not combine the
properties of plasmids and bacteriophages

D) Engineered vectors that combine the properties of
plasmids and bacteriophages

77) GORYC FUIQ 699 QNG @ATQ Q 9aF Qlel 2 ?

A) QRYeHS 698 919 609 9IAFg o 6FEaYg IR KGRI
B) 9ouelo 60190 QI9I 6997 QUIEQIABETR Jena 63dag
QAYe @GN

C) geyeEo caxa I9l g1afie 8 QYIERIRBeTs Jena 65a84g
A°YS @R

D) 9eyele 6aqa D19 Qafia 8 QUIERIRGETR CEaa STa8g
a°ge @2

78) The Sl unit of momentum is

A) kgm
B) kgms
C) kg/m
D) kgm/s

78) 9°6Q9IQ IRS 6908

A) kgm
B) kg ms
C)
D)

kg/m
kg m/s

79) Lysosomes are membranous sac bag of golgi apparatus
and consists of several enzymes. They are

) sites of protein synthesis

) sites of ATP synthesis

) sites of intracellular digestion
)

A
B
Cc
D) sites of DNA replication

79) AIKEAISAIC] | 620E 09 HIRN 60 FAUR "6IIF" AOK0ER
FRWIS 8 16Q9ER ...

A) 69158 @ <°6gF8 6 QG
B) ATP €°648da 9@

C) 2986130 Q9w U

D) DNA @ g&ga 90549 fIe

80) If a unidirectional moving body is under constant power,
the displacement in time (t) is proportional to

t2
{1
32
v

A

B

)

@

)
)
)
)

oW

)
)
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80) 9T 6915 YRS 9ITF 92 , §Q aF JRISsQ 2& , oI 626m
AALER AR, LILIQ AAIGAIDR 26T Q' 687 :

1/4)

)
)

81) A bike moving at the speed of 80 kmph possesses

A) Mechanical energy
B) Heatenergy

C) Sound energy

D) Chemical energy

81) 4@ QAR 912 & 94l g5 80 @8 6996q 9F 98 , CRIQ 98
6903 :

A) Q3e 42
B) oId 6@

C) des@

D) QLGS 59

82) Boyle's law concludes that

A) at a constant temperature, the pressure of a fixed
amount of gas varies directly with its volume

B) at the lower temperature, the pressure of a fixed
amount of gas varies directly with its volume

C) at the higher temperature, the pressure of a fixed
amount of gas varies directly with its volume

D) at a constant temperature, the pressure of a fixed
amount of gas varies inversely with its volume

82) QU6RE G901 98 ARIR6Q QUGS 99

A) 4@ 80 QI0IgIEa , 1a FE] aGAIGa SUIQ @ 91T, Ne° 1T
QTR AAIRAIGR QIS AGLEG g9

B) 99 fg0Q 9IOAIg6q , 99 56 GaKa oNId @ 919, 9e°
42/ AT AIPUIGR WIS JREe 94

C) 4R Q999 SIIAIgEa , 9@ 7aq afina G4Ig @ BI1a , ¥Q°
I RTR AAIRUIGR WI6a JALEe 99

D) 4@ /AQ QIIFIgIEa , Y@ FEe AAIKIQ oI @ OId , 99°
4210 TR J6RIF AU GI6e IRede 99

WtsApp/Call- 8596976190

83) Alcoholic fermentation is a anaerobic pathway carried
out by yeasts in which simple sugars are converted to
ethanol and

) carbon monoxide
) carbon doixide
)
)

oxygen

A
B
C
D) nitrogen

83) ANERILN @ge 6298 P8 TRl AR W@ AN QI
6UGE6Q F9Q RAIGR B ------- q QI8E0 g4 ?

A) QISR FI6RIFING
B) aSNQQIe),

C) agele

D) QeQIQRIe

84) Gay-Lussac's law states that

A) at constant pressure, volume of a fixed mass of a gas is
directly proportional to its absolute temperature

B) at constant temperature, volume of a fixed mass of a
gas is directly proportional to its pressure

C) at constant temperature, pressure of a fixed amount of
gas varies inveresly with its volume

D) at constant volume, pressure of a fixed amount of gas
varies directly with the temperature

84) 69 QUIR TG B FEL

A) 9 80 91068 MK 748 gRA Ui , Y21 999 SIaAIgl AL
AARAIGR 26T

B) @ 3@ QIIAIQIEY , IR AE8 OGaIa oiI @ 98TR , 19Ia
Q1T A2 AAIFAITR VIR FRER1

C) 49 ¥ QIaAIgka , 1@ 748 afAIda TUIY @ 91T, SILIR
YRR A2 99Te 2190IGR QIER YQ6R

D) 9@ g0 R0 , 99 HE8 aGAKIa GUIg @ 91T, 9TIR
QIIAIGI AL AAIGAITR NER QRER |
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85) Substitution reactions that take place by a concerted
mechanism are called as Sn2 reactions. In Sn2 reactions
what does 'N' stands for?

A) Nucleophilic
B) Nonvolatile
C) Neutralization
D) Normality

85) {70 oI 9101 621KeQI 9EQI0e 9Eqalg , Sn2 99gel
QEIAN | Sn2 goTal 62 ‘N’ @86m Q4 QeI ?

A) QUGN

B) a1 sangiam
C) Gegimasaan
D) 9€IRG

86) Why standard boiling point of the liquid is slightly less
than nomal boiling point?

A) 1 bar pressure is slightly less than 1 atm pressure
B) 1 bar pressure is slightly higher than 1 atm pressure
C) 1 bar pressure is slightly less than 2 atm pressure
D) 1 bar pressure is equal to 1 atm pressure

86) 9OR JOKIa FIGR YERIT , ARG ORI O QITR T @9
ar?

A) 49 QIq 919 ¥R QIGFERIA 1a OIQ 2I8 @

B) ¥I® QIQ 919 IR QIGFLRIE 919 01 ANIRY @
C) <@ Q19 019 g8 SIYFSRIA SIT 01 218 &6

D) 4 QIq 919 IR |IgAIEF1E 910 AT QAR

87) Zn(OH)z is the chemical formula of

A) Zinc hydrogen peroxide
B) Zinc hydroxide

C) Zinc oxide

D) Zinc dioxide

87) Zn(OH): @I21Q QAT 9%

A) % 2IR6QERR 6U6RIRIFING
B) &% 2I06RIRFIRG

C) @< a91eQ

D) §& QRAFING

88) What is active transport?

A) Transfer of molecule across the membrane against their
concentration gradient with the use of energy

B) Transfer of molecule across the membrane against their
concentration gradient without the use of energy

C) Diffusion of molecule across the membrane along their
concentration gradient with the use of energy

D) Diffusion of molecule across the membrane along their
concentration gradient without the use of energy

88) 4@ QQQee @@ ?

A
B

QG GGG gE9RER 3 eI @R ER1 690 8¢ 9Eea 9F
QIR Y9G gEGRER 98 e2io @ K7 8wl 6o 8¢ geea

[=2]
D)~ =

C) QIg g9l AGYRTTER, 63 Q4TI /9 , SR 69R 2§
Geaa Teaad

D) QIf gedial 299R006a, 48 Q1eRa @ 8Q , FR1 69R &g
JEaa G6mad

89) The green expanded part of the leaf with midrib and
veins is called as

) lamina

) petiole

) leaf base
)

A
B
C
D) pulvinus

89) qlal dial 1e° QEqIgRl Igs AR AR 2°6q QRIAN :
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90) Toddy' is the traditional drink made from

A) Fermentation of mik
B) Fermenting of millets
C) Fermenting of curd

D) Femmenting sap from palms I e C h

90) Q°g& QSRR TIRD 69RQ 9IS 6208 ?

A) 99Q Qge

B) QeI @
C) Q%a @ge

D) QI @4e Q4
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Question Paper No: 47071 73

Answer Key

. C 31.C 6l. B
2. C 32.A 62. B
3B 33.A 63. D
4. D 34.A 64. B TeC
5. A 35.C 65. D
6. D 36.B 66. D
7. A 37.B 67. A
8. C 38.B 68. B
9. C 39.D 69. B
10.C 40.D 70. B
11.D 41.D 71. C
12.D 42.D 72. B
13.A 43.C 73. B
14.B 44.D 74. C
15.A 45.C 75. A
16.B 46.B 76. D
17.A 47.A 77. D
18.B 48.D 78. D
19.D 49.A 79. C
20. A 50. A 80. C
21. A SL.A Bl A
22.D 52.C 8. D
23.B 53.D 83. B
24.A 54.C 84. D
25.B 55.D 85.44
26.B 56. A 86. A
3.8 51.¢ 3.4
28.D 58.C 88. A
29.A 59.C 89. A
30.B 60.D 90. D
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